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DEPARTMENTAL EXAMINATION
November 2016

DEPARTMENTAL TEST FOR ACCOUNTS OFFICERS - FIRST PAPER
(With Books)

Time: Three hours
neuk :3 kzy

Maximum Marks: 100
myifglr kjigbg=zfs :100

Note/ Fwgq :

1)

Answer five questions only. First question
is compulsory.

leJ tdiffSfF klILk trlasiftk
Kjy nfstyfF fllhaknt ©ilasiffek

()

Candidates are allowed the option to
answer the paper either in English or in
Tamil or even to answer the paper partly
in English and partly in Tamil.

nghthshfs gkiHnyh [m) M fiyjpnyn
myyd  ,uzlLk fyenjh  ti1lasiff
mDkjiffgglLssJ.

3)

When answering in excess of prescribed
number of 5 questions, the excess answers
appearing at the end will not be valued.

leJ tdnftfSTF nky kirfahft ¢l
vGJk glrjjiy mej kinfand i lfsy
frlnandtewrw kjiggl braaggl khllhJ.

(4)

Answer should be brief and to the point
and need not be a verbatim reproduction
of printed pages.

i1 lIfs RUffkitk nfstifF chajhftk
,Ujjy mtnak gjiyfs  mrnlggll
gff=fsid guijgymgonf , UFF ntz Ihk

(5) | Marks will be deducted for bad nkhirknd — 1ftbaGjywFk gn IggwFk
handwriting/ bad presentation. kj/gbg Zfs Fi WffggL k

Marks

1. Choose the correct answer: 1*20=20

gflwmerr eflenLemw CHIHOSBSS! 6T(PSIS:
I. What is the last date for payment of the bill assessed on 23.08.2016 in
respect of LT Educational Institution?

a. 11.09.2016 b. 12.09.2016

c. 13.09.2016 d. None of these

SMDAPSHS WeTgmId LWETURESID s6vall Hmielergdes LhsisausSH
23.08.2016 SieoTm)| 1BSSHLILULL G SHHS SHLLOGHMS (eSS Cercuvg.iil

Qa® Cad esoer?

a. 11.09.2016 b. 12.09.2016

a. 1.5% b. 5%

What is the rate of Harmonic Compensation Charges?

SememmevseT Hel FEH SLL 6w NHGLD 6T6oT601?

a. 1.5% b. 5%

c. 13.09.2016 d. @emeu gD
BeLsm6L

c. 9% d. 15%

c. 9% d. 15%

An application with complete details has been received at the section office

for transfer of service connection. The same shall be effected within?

a. 15 days b. 30 days

c. 7 days d. 21 days

QW LIHOSEDSTS @ HISTCEUMT (LA(POLIWITS LTHH QFUILIILLL

LGeusms  AeNSSTD 245
Geoust@Lb?

a. 15 prLgern b. 30 prL&ei

1556060 BILSERHGS6T  (LPlgSHSLILIL

C. 7 BT &6l d. 21 prLgei



Vi.

Vii.

viil.

LT monthly assessment bills can be paid through

a. Section b. Online c. Govt. E-Seva  d. All of these
counters payment counters

SMD6U(PSS OGS L 6WID 6TelUT] QFVIHS (LPlgU|LDd?

a. Nifley b. <y 6T6m6V60T C. 9p& @-Caemeu d. Qeneu
&6)|60TL_[JS61T (L6mm EOLOUWILD SIS GILD
What is the effective rate of Service Tax from 01.06.2016 onwards?

a. 14.0% b. 14.5% c. 15.0% d. 15.5%
01.06.2016 (Lp&Hev GFemeu eulfl NEGLD 6T6oT60T?

a. 14.0% b. 14.5% c. 15.0% d. 15.5%

What is the value of contract upto which the Superintending Engineer/EDC
can purchase line materials under Limited Tender?

a. Rs.5 Lakhs b. Rs.3 Lakhs c. Rs.2 Lakhs d. Rs.1 Lakh
QUMIWMISSILUL L. epUiLbhGLILeTeN epeuld OISO CQUIT(HL &6 6UMhS
LOleoTLATOMEST QUL Cmumjene QUIIWTaTI&HEh&E NaN&sLILL (BerTern
Q& TemSHUIN6IT 6UILDL| 6T60T60T?

a.cm.5 @eolsld b ep.3Qeolsd C.oeb.2 Qeolsd  d.oem.l @eol &l
Mention the authority who has been delegated with full powers to replace
the failed Distribution Transformer?

a. Assistant b. Assistant c. Executive d. Superintending
Engineer Executive Engineer Engineer
Engineer

Upamesr Llesr  L&Fomer  WleTompil  eeTNDG UHeL  LDHEDTsTEnM

QAUTBSS WNTHSS (WD AHSMLD SHefSsLLL (Bereng)?

a. 2 g b. 2. gl Qewm C. Qewm d. Cumumjeneu

Qumrphlwimernry Qumrphlwimernry Qumrphlwimernry Qumrplwimernry

An employee is entitled to claim deduction under Section 80C of the

Income Tax Act subject to a limit of :

a. Rs.1 Lakh b. Rs.2 Lakhs c. Rs.2.5 Lakhs  d. Rs.1.5 Lakhs

@@ 2a1ALIFl6T UBLOMETHHED 6ThG QHMEMS euem eubLOTe 6uifl LNifley

80Cuesr Lg ‘HLNSHHL’ SIMILDSSSHILGEHMDGI.

a.cm.l @eolsd b ¢p.2 Qeolgd  C.ep.25@Qe0l 8D d.¢h.1.5@60L &L

What is the rate of Bi-monthly fixed charges payable by a consumer who is

using Lavish lllumination?

a. Rs.6.9/Kw b. Rs.69/Kw C. Rs.690/Kw d. None of these

ufllfigLomsn  eNen&Qsmell  LO6T  QUPHISISGS @(IHLOTS IS EDSEST(H

weom STHaNWPsSS BIBIGar] QFss Geolwmqul Hleneod &L L 6uulLd

6T60T60T?

a. eh. 6.9/&.eum.  b. ¢5.69/&.6um.  C. ¢5.690/H.eurl.  d. Qemeu HILD
BeLsm6L

What is the penalty for extinguishing public lamps?

a. Rs.2000 b. Rs.2500 c. Rs.3000 d. Rs.3500

Qurg eNen&@Gaemen CasLLGSSHICUTHSHE ILUNTHS CHTENS 616516012

a. ¢m. 2000 b. em. 2500 c. ¢m. 3000 d. ¢m. 3500



Xi.

Xii.

Xiil.

Xiv.

XV.

XVi.

What is the standard specified for the level of performance in the
replacement of meters?

a. 75% b. 85% c. 95% d. 100%
Lhestevterielemut  LOMOM  MeUSHHVIEHMTeT GOILNNLL  &HTeLSHHM G sTermest
QEWELEMETT QeV&G 6T6oT6?

a. 75% b. 85% c. 95% d. 100%

Who has been delegated with full powers to accord administrative approval
for sanctioning the capital works in respect of three phase domestic service
connection?

a. Assistant b. Assistant c. Executive d. Superintending
Engineer Executive Engineer Engineer
Engineer

wwens af LE 2uCwinsg 6T HISTeUSSTET CLPeVGHT ColsnevgHenern
QEWeUGOSTE  HJouTs LIS UPRIGLD ALY SIHSTIL  WTHES
SleM&HLILL (HerTeng)?

a. 2 g b. 2. gl Qewm C. Qewm d. Cumumjeneu
Qumrphlwimerry Qumrplwimernry Qumrphlwimernry Qumrplwimernry
What is the amount of initial Security Deposit payable for a single phase
service by an LT Il C consumer with a sanctioned demand of 3 KW?

a. Rs.20 b. Rs.200 c. Rs.2000 d. Rs.20000
SMpalpss Weerenemiiy of sUuigll C ulled epliuefdsiuL ueEp 3
S.eumligm&men QUL sneulls CGmemsemi GOILULN({HS.

a. ¢m. 20 b. em. 200 c. ¢m. 2000 d. em. 20000
Point out the basic exemption limit for levy of Income Tax for an individual
other than senior citizen:

a. Rs.5 Lakhs b. Rs.4.5 Lakhs c.Rs.3.5Lakhs d. Rs.2.5 Lakhs
WNHHS GIGLDSHEHET 6LEVMTE MM H6vfl HLIHSHTEN g LML 6(HLOTETT
auifl & eNevd@ eTetteor?

a.cpS @eolsd  b.ep4.5Qeo &b C. ep.3.5@6e0L gD d. eb.2.5@60L &LD
Mention the Name Transfer Fee in respect of Wind Mills:

a. Rs.20000 b. Rs.50000 c. Rs.75000 d. Rs.100000
STHMTENEVSHEHSHSHT6T GILILIT OMHM SHLL 600G HMSM60 Cl&Tems 616016012

a. ¢,.20000 b. e,.50000 c. ¢,.75000 d. em,.100000
What is the charge payable for reconnection of HT cinema theatre?

a. Rs.1000 b. Rs.2000 c. Rs.3000 d. Rs.4000

2 W SIS LT mISTe| 2 6men Flev] SITRSSEDSTE WM Qenerli
SL_L6T0ILD 6T61I6L6IT6Y?

a. ¢m. 1000 b. em. 2000 c. ¢m. 3000 d. em. 4000



XVil.

XViil.

XiX.

XX.

b.

Mention the tariff applicable for the service connection provided for
common facility in a residential complex where the built-up area of non-
residential purpose exceeds 25% of the total built-up area:

a. Tariff I A b. Tariff Il A c. Tariff 111 Al d. Tariff V

af LG 2 LGWIT&LD LOMHMILD af LG o LGWIM&LD SI6LEVNS
WeoTLWeTUT(h&emend  Q&mesoi.  Leowdmg  Gu@GUILmsefled af LE
o LCWIMHLD oj6LeLMG LGHUTN6T SLlgL LLFLLY QMSS Sl lgl Ll LFLfesr
Slemalled  25% &G CMUL LG (HHGLLTEITE  SHGQUNGBLNT QU
alend@ Cumstim UFHEHEHHES SHeMSSLLL (Bemen LOlstTaM&HetT ef &L Ig
6T60T60T?

a. lA b. 11 A c. 1Al d V

What is the tariff applicable to Railway Traction?

a.LTV b.LT I B C.HTIA dHTIB
QULTE QEpmalsd 6he af UL Iqulsd LT HISJe| SHEudbHL L
Geustor(HLb?

a.LTV b.LT I B C.HTIA dHTIB

What is the maximum period of a disconnected HT service to get
reconnection?

a. 6 months b. 1 year C. 2 years d. 5 years
LOl6TENTLD GG SBULULL. @b 2 WJ SIS LOTHSTCUT] 61hg SHTev
SUSTEHEHMG6T M| L6 @emewrli] CUMMIL. (LplgULD.

a. Sml b. @m eumLLD C. Queul d. ®Bg
LDITGMIG6IT 6) (5 L_IRIG6T 6L (5 L_IRIG6T
What is the fixed charges payable by a LT domestic consumer whose bi-
monthly consumption is 300 units?

a. Rs.10 b. Rs.20 c. Rs.30 d. Rs.40
QmwrghHiseilsd 300 Wl GaeT HsJe QFUWD @@k STDOI(PSS
af L msiGeumy Q&enss Geustorigll Hemev &L 6wl 6165168

a. ¢m.10 b. em.20 c. ¢5.30 d. em.40

Define the following:
I Distribution System
ii. Conservation

iii. Utility
iv. Sub-station
V. Electrical Inspector

SpsaauLeunmn©E GOILY 61(paIs.
I. L&IJLOTET 62(LPRISHENLOEY

ii. G560

iii. Lwsotum(®

Iv. glemewor LT Hlemevwid
\% 1) [2) CTTHTST)1 (311

What are the objects of the State Advisory Committee?
wrhe sileymr Gpedle QFuIed CHTEHELD 6TeoTer?

Wwwww



The meter of a domestic consumer showed reading as on 22.06.2016 as

15780KWh & that on 23.08.2016 as 16750KWh. What is the assessment

amount for August 20167

Q@@ SMDelPsHs of LG uwerur G msjGeumfler et sienail22.06.2016

Sieoim 15780 KWh bmmib 23.08.2016 Sisoim) 16750 KWh eteimid  Lgey

QESG. SeuTsH B&HeV(h 2016 QLD DTG LO6TT SL.L 6UOILD 6T6M6ETEY?

I. What is a work order?

ii. Mention the types of work order?

iii. Explain capital work order accounting?

. L6wN S6M6T0T 6T6ITMITED 6T60T60T?

il uewh gyenemoruiledt eumSSHemen efeur.

. pseSL@ v syensmoulen Saus&EEH FLLWHSLOTTEUMmM Nifleurs
6T(LPSEULD.

The all inclusive value of the each quantity of a particular material to be
delivered by a supplier is Rs.8,17,228/-. The scheduled date of delivery is
on 25.01.2016. But the supplier delivered 3.544 Qty; 3.523 Qty; 3.535 Qty;
& 3.55 Qty of the materials belatedly on 3", 4™ 5™ and 10" February 2016
respectively. Liquidated Damage (LD) to be claimed is @ 0.50% per week
of belated supply. Calculate the value of LD charges.

@@ Qummeilsst ellenev €5.8,17,228/-. UQUTHeMN6HT &Hov  eTEUSB6N
Sisstemmul  25.01.2016 CHHUND  QIPRISLILILTDED &ML  HMDFLOMS
QIPRISLILLL & Sleualereyderedssr  3.544; 3.523; 3.535 wmmid 3.55
wWeomGuw Mageurl 3 gyid, 4 gyid, 5 Sy WOHMID 10 YD BIET &HiTew
SMOGHIONSG QUPHISLILLL 631, HFwuNSGSIULL 6(h 6UTTSHSHMETEN  &HIT6V
&Mog @Qiys sLLeoid @ 0.50% SHEW. CmFamUUL (Hemer &6
SMOHIONG  QPRISLILULL  TOSHELESHTT &ML  SMDG  QUPLILS
SLL oS08 GSOILLNGS.

Explain in detail about LT Tariff 11 A(2).

SMDAPSHS NeTHLL6uor ef UL IgI A(l) ubi eNen&&LOTs 61(LPSIS.

The consumer with a contracted demand of 29.5 KW has an industry. His
reading on 14.06.2016 is 2370 KWh and that on 12.08.2016 is 2980 KWh.
His recorded demand is 8 KW. Find the assessment value during August
2016.

@@me] euUUeSSIULL  uEp 295 KW  2emen  QSMHMHEFTEm6L
smEUGHGI6TeT. Sleurs LetT Siemel 14.06.2016 Siedim) 2370 KWh &6
12.08.2016 SieoTml 2980 KWh Su&e b udley QFIgHg. Lhler Sleneiluied
ugley QaewniulL UeEp 8 KW @. gp&av(h 2016 4 LOMTSHSSIMSTes
LO6OT LI IQUI6m6V SH6T0T&HEIL_6)LD.

Explain in detail on levy of Belated Payment Surcharge.

&ML SMOFHLTS SL(HD T SLLemgHetr B CurLiu@BGd ujns
Qgmemauileneer UMM eNfleurs e1(LpGeLD.

[op JE S AN S

10

10

10

10



6.

a.

What is Quality of supply? How should a consumer’s complaint be
responded?

LO6TT  6ULDMISGEL HLD 6T6IMMTEL 616316017  HISTGOUMTIl6N LISMSH6T 6T6eUTM)
ensWwimeniuL. Geuesor(hLb?

The details of Income of an employee in service, who has furnished his
PAN to his employer is as below. Calculate the total Income Tax payable by
him.

Gross Slary Rs.5,20,000
Contribution of GPF Rs.50,000
LIC Premium Rs.20,000
Repayment of House Building Advance  Rs.25,000
Tution fees for two children Rs.60,000

([ 26 Yo eUGBLOMENLD HGLY eMGSHLILIL (HeTengl. ieuj PAN
61600 QBT(hGGIeTaTI. o] CFVISHSH GCeustunqul  eUBLOTET  eurflemul
&600155 (h'.

96001 FLDLIELD €15.5,20,000
GPF &auisdled QFISSLILILL G| €15.50,000
LIC LifBwiib €15.20,000
HBA elm&né SnLUN QFISSLILILL G| €r5.25,000

Auen(h GLOhenssHerfler HeLaT &L L 6uwILd €15.60,000

A service connection has been effected to the corporate office of M/s.Arjun
Construction company with a sanctioned demand of 600KVA. During the
reading on 28.07.2016, the meter recorded a Demand of 570.96 KVA. The
energy consumption is 103936 units. Out of this, peak hour and night hour
consumptions are 24600 and 26544 units respectively. Calculate the bill for
July 2016. The bill has been rendered to the consumer on 29.07.2016.
Mention the due date of bill.

M/s.oljege6m &L igl.  SCUeNUN6T Hemevemid Sigyieleusd 600 KVA
UUaNSSIULL. U@p Q&meoLgl. Ller olemalulled 28.07.2016 st
ugley QeuwnuiulL  uep 570.96 gY@GW. SiDWTG Qs LTy
Lwesf L emey 103936 <@, @eummien 2 &8CHyw wOHMID Qre| GCoy
Lwest L Lere (WwemmGui 24600 wmmib 26544 Wi efll(h&eT @Wb. Qs
HISTGeumflest eg9emev 2016 Qyld LOTHSS6T LO6HT &L L 6001&H6m Hij6surid
Qeis. Qa6 Mev CaH 29.07.2016 HGW. Qs L LWIHMS CFNIHS
Ceugtiig il Q&G CoHdHemw GMILINGHS.

Explain in detail about evaluation of Tender as per the Tamil Nadu
Transparency in Tender Rules, 2000.

UUBSL Letefl H&eusd eNdleefsoLig, eplibgLlilemel eeueurm WHITEH
QEwwiuL. Geustoi(RLD 6T6tTLENG Tl6UTLONS 6T(LNSIS.

*XxXIxXXx
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